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UNIT—I
1. (@) If Al X 2 Y gl * 2l
L4 z 2J Lx y 2J
find A-2(B). 5

(b) Solve the coefficient matrix for the
systems

x-2y+3z=1
3x - y+4z=3
2x+y-22z=-1 10
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(2)

OR

2. State the properties of ¢

eterminants witl
example.

UNIT—I1

3. Find the

partial  derivatives of the
following :

4+4+4+3
(a) U= x%y+ xy?

(B) U=x2y2,,5 +y°
(C} e .X2 i y3
(d) 17 =442

OR

4. What is tota: differentiation? Discuss briefly
tions of total diffe

the applica erentiation in
feonomic anaivsis,

5+10=]
UNIT—I11
S. Write notes on the following : 7+8=1¢
faj  Constramed optimization by

substiturnion method

fbj Lagrange multiplication method
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(3)

OR

6. A firm has a budget of ¥ 300 to spend on

the three inputs x, y, z whose prices per
unit are ¥4, # 1 and ¥ 6 respectively. What
combination of x, y, z should it employ to
maximize output if it faces the production
function Q =24x°3 g 7 gy

UNIT—IV

(a) A firm faces the total revenue schedule
TR =600g -0-5g°.

(j What is the marginal revenue when
g = 1007

fij What is the total revenue at its
maximum?

fii) What price should the firm charge
to achieve this maximum total
rever:ie?

bl Find the extreme values of the function

3 : -
g= ¢ =9y +15x+20

OR

hat 1s profi* maximization? The total
cost function of a4 firm s given by

o 2 . s 5
TC =aq” +bg -+, where g is the quantity and

o1}
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10.

(4)

demand function is given by p- B-aqg,
where P is the Price. Find out the profit
maximizing output of the firm. 5+10=1;

(@)

(b)

(@)

(b)

UNIT—V

Solve : 5+5=10

(Y 1-x) - EQ=O
Yyl -x) xdx

(i) (x—xy2)dx+(y~x2y)dy=o

Solve the differentia] €quation
dy
=—+35y =10
2 Y

with the initja] condition y(0) = 6, 5
OR

Explain the solution of first-order
difference €quation by iteratjon method. 7

Solve Yee2 42y, -3y, =16 with initial
condition, Yo =10 when t =0 and y, =6
when ¢ =1 8
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